
www.swissmadison.com  |  1-434-623-4766  |  info@swissmadison.com 
@SwissMadison
#WellMadeForever

INSTALLATION INSTRUCTIONS

Wall-Mount Vanity

w e l l  m a d e  f o r e v e r



QUESTIONS OR CONCERNS?
Please contact us:
1-434-623-4766
info@swissmadison.com

PRIOR TO INSTALLATION:
· Inspect product to ensure no damages have occurred while in shipping.

· Observe all plumbing and building codes in accordance with your state and local requirements.

· All dimensions are nominal! Be sure to measure your vanity prior to installation.

· The step-by-step guidelines in the installation instructions are a general reference. Should there be
any discrepancies, Swiss Madison® cannot be held liable. It is recommended to install all Swiss
Madison® products by hiring a licensed professional.

· Read installation and maintenance instructions thoroughly before installing. Be sure to use proper
tools and always wear proper personal safety accessories for your protection.

   INSTALLATION

SUGGESTED TOOLS & MATERIALS:

INCLUDED PARTS:

 WALL-MOUNT VANITY    INSTALLATION

AdhesiveDrop Cloth

SiliconeGloves
Safety 

Glasses

Level

Screwdrivers

Drill

Vanity 
Sink

HardwareVanity 
Base

Wall-Mount
Hardware



   INSTALLATION

Parts for Reference:
1. Left side panel
2.
3.

Right side panel

4. Rear top bar
5. Rear bottom bar
6.

Front cross bar
7.

Bottom panel

8.

Left door
Right door

1

INSTALLATION:

 WALL-MOUNT VANITY

1

2

3 6

7

8

4

5

A

B

C G

F
D

H

E

·  Screw 5 cam bolts (A) & insert 2 wood dowel (C) into the left side panel (1).
   Repeat for the right side panel (2). 

C

A

A

A

A
A

A

A

3

2
1

8

C

C

A x 11C x 2

·

Cam bolt lock M6 X 35mm (11)
Cam lock 15mm x 12mm (11)
Wood dowel 8mm x 30mm (6)
Screw M4 x 35mm (4)
Hinge (4)
Metal corner bracket (2)
Short screw M3.5 x 14 mm (40)
Plastic anchor M10 x 35mm (4)
Long screw M6 x 60mm (4)
Door pad (4) I

J

M

N

Plastic anchor M8 x 35mm (2)
Long screw M5 x 40mm (2)

Short screw M4 x 16 mm (2)

L.
K.
N.
M. AL bracket (2) K L



  INSTALLATION WALL-MOUNT VANITY

2 · Use 1 cam lock (B) to lock the front cross bar (8) to the lift side panel (1).
Use 4 cam lock (B) to lock the Rear top bar (4) & reap bottom bar (5) to the lift side panel (1).

· Repeat for the right side panel (2).
·

5

4

8

5

4

8

1

1

2

B x 5

B

B

B

B

B

B

B

1 2 3 54

160̊ ~185̊



  INSTALLATION WALL-MOUNT VANITY

3 ·   Carefully align the bottom panel (3) pre-drilled holes to the pre-assemble wood dowl on both of the 
    side panels edges and secure it by tightening 4 Screws (D).
·   Connect the bottom panel (3)to rear bottom bar (5).
·   Secure with 1 cam locks (B) as shown.

3

5

D x 4 B x 1



  INSTALLATION WALL-MOUNT VANITY

4

5

E x 4 G x 8 G x 16J x 4

G

G

4

F

G

G
G

F x 2 G x 16

E

E
G

J

J

G

G

J

J

G

6

7

6

7



H x 4 I x 4

  INSTALLATION WALL-MOUNT VANITY

5

5

M x 1 N x 2

N

N

M

K

L

M

K x 2 L x 2 M x 1

I x4

H

I
H



  INSTALLATION WALL-MOUNT VANITY

6

Wait 24 hours before use.

24H

VANITY TOP INSTALLATION
·  Install faucet and drain according to

manufacturer’s installation instructions. Do not
overtighten, this may cause the sink to crack.

·  Set the vanity top on top of the vanity base,
checking the location of the p-trap and drain.

·  Remove vanity top from vanity base. Apply a thin
bead of silicone around the vanity base and set
the vanity top carefully in place.

·  Remove excess silicone with a wet cloth.



1-434-MADISON(623-4766)  |  www.swissmadison.com

    ONE YEAR LIMITED WARRANTY 

WARNING: 
Contents of your order may contain sharp and possibly other harmful pieces and may cause hazard
to children and adults. Swiss Madison® is not responsible in any way for personal damages. 


